
The coefficient of x2 in the expansion of (3 + 4x)3

The coefficient of x3 in the expansion of (2 - 5x)4
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The coefficient of x5 in the expansion of 

The coefficient of x3 in the expansion of 

Given that the fourth term in the expansion of (1+ kx)8

is 12096x3, find the value of k

Given that the coefficient of x4 in the binomial expansion 

of  (a - 3x)5 is 810, find the value of a

Given that the coefficient of x2 in the binomial expansion 

of  (1+ 2x)n is 760, find the positive value of n
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The coefficient of x2 in the expansion of (3 + 4x)3 144

The coefficient of x3 in the expansion of (2 - 5x)4 -1000
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The coefficient of x5 in the expansion of 

The coefficient of x3 in the expansion of 

Given that the fourth term in the expansion of (1+ kx)8

is 12096x3, find the value of k
6

Given that the coefficient of x4 in the binomial expansion 

of  (a - 3x)5 is 810, find the value of a
2

Given that the coefficient of x2 in the binomial expansion 

of  (1+ 2x)n is 760, find the positive value of n
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